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100 kg 200 kg wsailfnsen
. 150 kg -ml ZM2 = @1
I 5 )
g Ma —(100x1.5) - (200x3)-150 = 0
1.5 m. 1.5 m. Ma = 150+ 600 +150
= 900 kN.
100 kg 200 kg [2Fy = 4]
Ma = 900 Ray —200-100 =
/ A B C 150 kg - m.
Rax =0 < ) Ray = 300
[ NN AN
Ray =300 VA = Ray = 300 kN.
Free body diagram
VB, = 300 kN.
VB, = 300 —100 = 200 kN.
300
200 VCL = 200 kN
+
0 VC, = 200-200 = 0 kN.
SFD Aoanluunda
MA = -800 kN -m.
0
] . MB = -800+ (300x2) = -200 kN—m
/450 MC = -800+ (300 x4) - (200 x2) = 0 kN - m.
900

BMD
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100 kg/m. 200 kg -m.
Aa Fr 11177 9
3.5m.
Ma =812.5 100 kefm, 200 kg - m.
RaX_O{Al RN 9
Ray =350 )
Free body diagram
350
0
SFD
0
200
812.5

BMD

wwsailfnsen
[(>Ma = 0 +)]
3.5

Ma—(100><3.5><7)—200 =0

Ma = (100x3.5x3—é5)+200

Ma = 812.5 kg.
[2Fy = 0 +T]
Ray - (100x3.5 = 0

Ray = 350 kg.
fin1sanusaneu

VA = Ray = 350 ke,

VB = 350-(100x3.5) = 0 kg..

a d
‘Winimﬂil!&luﬂﬂﬂ.

MA = -812.5 kg-m.
35
MB = -812.5+(100x 3.5 x7)+ 200

=0 kg-m.
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wsailfnsen
250 kg.
150 kg - m. l [>Ma = (D]
A’ B
2 ) Ma—(250x4)~150 = 0
. 2m. | 2m | Ma = (250x4x)+150
I [ [
| Am | Rby = 1150 kN.
[2Fy = 0T+]
250 kg. Ray-250 = 0
- Ray = 250
Rax =0 . A \ vB
NG| 4 Ray = 250 kN.
fin1sanusaney
Ray =250
VA = Ray = 250 kN.
Free body diagram
VB, = 250 kN.
VB, = 250-250 = 0 kN.
250 - o
Nz luuuAan
+
o MA =-1150 kN-m.
SFD MC, =-1150+(250x2) = - 650 kN -m.
o MCy=-1150+(250x2)+ 150 = - 500 kN -m.
- — MB = -1150+ (250 x4)+ 150 = 0 kN-m
650
1150

BMD
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200 kg.
500 kg/m.

A% bvvdve iy

B C D

| 1m. | 2 m. | 1m. |
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1.)

200 kg.
. 500 kgfm.
A
2 B C D
[ 1m. | 2m | [ m. |
| | I I
1000 kg 200 kg.
Ma = 2800 kg
(A
Rax =0 \'
Ray = 1200 kg
FB
1200 kg.
@ 200 kg.
0 0
SFD
0 0
S 200 kg-m
1600 kg-m
2800 kg-m
BMD

winslgnsen
[2Ma = 09]

Ma = (500 x 2.00 x 2.00) + (200 x 4.00)

2800 kg-m D

Ma = 2000+800 =

[2Fy =
Ray -1000-200 =0

Ray = 1200 kgT
[2Fx = 0+ —»]

Rax = 0

NsaNUsUNY

VA = 1200 kg

VB = 1200 kg

VC = 1200 - (500 x 2.00) = 200 kg

VD =200-200 = 0

Nosanlumuada

MA = -2800 kg-m

MB = -2800 + (1200 x 1.00) = -1600 kg-m
MC = -1600 + 1400 = -200 kg-m

MD =-200+200 =0




